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Bird _ has killed more than 60 people in Southeast Asia since it was first discovered in 2003.

&) flight ®) flu (©) feather D) flow

Penguinshave  Dbut they cannot fly.

A) legs (B) wings ©) eyes (D) nests

The photographer _ the photos in his own laboratory.

(A) develops (B) hires © sends D) realizes
Canyougiveme  information?

&) a few B a little © many D) every

There are always taxis waiting at the railway station for people _ the train.

(&) looking for (B) getting off (© taking care of (D) stepping on

The wedding will _ on Sunday, May 1, on the south lawn of Central Park.

(A) turn out (B) turn up (©) take place (D) make sense

George’s actionsdonot _ his words, so most of his friends would not team up with him.

(&) according to (B) agree with ©) alike to (D) avoid from

Georgiana is slim, she is on a diet.
A In case (B Now that © As long as (D) Even though
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44 Kitty: You look so upset. What’s up?
Daniel: | was late for work in the morning, so my boss was very angry. And | lost my wallet on my way home.
Kitty: Poor you!
) It’s not my day. (B) Let’s call it a day.
© | have a terrific day. (D) I miss the good old days.
45 A: Our electricity bill last month was very high.
B: Then let’s stop using the air-conditioner so we can save some money.
A: Also, you should turn off the lights whenever you leave a room.
B: . lItwill save energy as well.
(4 No, I’d rather not (B) That’s a good idea © Yes, please do (D) Well done

(Y LHIFATETI% fH = 27 50 j

Two elderly women were out driving in a large car—both could barely see over the dashboard. As they were
cruising along they came to an intersection. The stoplight was red but they just went on through. The woman in the
passenger seat thought to herself, “I must be losing it. | could have sworn we just went through a red light.”

After a few more minutes they came to another intersection and the light was red again, and again they went right
through. This time the woman in the passenger seat was almost sure that the light had been red but was really concerned
that she was losing it. She was getting nervous and decided to pay very close attention to the road and the next
intersection to see what was going on.

At the next intersection, sure enough, the light was definitely red and they went right through and she turned to the
other woman and said, “Mildred! Did you know we just ran through three red lights in a row? You could have killed us!”
Mildred turned to her and said, “Oh, am I driving?”

46  What is the meaning of the phrase “went through” in the first paragraph?

(A) rode on (B) saw about © walked by (D) passed through
47  Who is Mildred?
(A) the driver (B) the conductor (©) the passenger (D) the police officer

48  Why did Mildred go through three red lights in a row?
(A) She wants excitement.
(B) She wants to commit suicide.
(©) She has no sense that she is driving.
(D) She cannot see the dashboard so that she doesn’t know what’s going on outside.
49  What’s the passenger’s concern about the driver’s keeping going through red lights?
(&) Going through red lights excites her.
(B) She thinks it’s not proper for an old woman to drive so fast.
(© She is afraid that there might be something wrong with her eyes.
(D) The behavior of the driver might cause a car accident.
50  Which of the following statements is true?
(A) These two women are drunk.
(B) These two women are senile.
(©) These two women have red-green blindness.
(D) These two women are rushing to the hospital.
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